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Ions and Isotopes Practice

Answer the following questions below using your notes or your book. 
1. What is an isotope? 

2. How do atoms become isotopes? 

3. What is an ion? 

4. How do atoms become cations and anions?

For the questions below determine if the particle that is described in an atom or an ion. In the space that says, “charge”, write either “positive”, “negative”, or “no charge”. Then indicate whether the particle is a “ neutral atom” or an “ion”. 

5. A particle of oxygen that contains 8 protons and 8 electrons. 

a. Charge _______________

b. Is this a neutral atom or an ion? ____________ 

6. A particle of fluorine that contains 9 protons and 10 electrons.

c. Charge _______________ 

d. Is this a neutral atom or an ion? ____________ 

7. A particle of calcium that contains 20 protons and 18 electrons. 

e. Charge _______________ 

f. Is this a neutral atom or an ion? ____________ 

8. A particle of uranium that contains 92 protons and 88 electrons. 

g. Charge _______________ 

h. Is this a neutral atom or an ion? ____________
For each of the following ions, indicate the total number of protons and electrons in the ion.
	Ion
	Number of Protons
	Number of Electrons

	9. Co+2
	
	

	10. Co+3
	
	

	11. Cl-1
	
	

	12. K+1
	
	

	13. S-2
	
	

	14. Sr+2
	
	

	15. Al+3
	
	

	16. P-3
	
	


Complete the following isotope chart:
	Isotope name 
	atomic #
	mass #
	# of protons
	# of neutrons
	# of electrons 

	17. uranium-235
	 
	 
	 
	 
	 

	18. uranium-238
	 
	 
	 
	 
	 

	19. boron-10
	 
	 
	 
	 
	 

	20. boron-11
	 
	 
	 
	 
	 


For each of the questions below fill in the atomic number, mass number, and write the proper name (e.g. hydrogen-2) for each isotope. 

21. Carbon (6 protons, 8 neutrons) 

Atomic number ______ Mass number ______ Name ________________ 

22. Argon (18 protons, 22 neutrons) 

Atomic number ______ Mass number ______ Name ________________ 

23. Silver (47 protons, 61 neutrons) 

Atomic number ______ Mass number ______ Name ________________ 

24. Protactinium (91 protons, 142 neutrons) 

Atomic number ______ Mass number ______ Name ________________

Calculating Atomic Mass 
25. What is the formula for calculating atomic mass?

26. Naturally occurring europium (Eu) consists of two isotopes was a mass of 151 and 153.  Europium-151 has an abundance of 48.03% and Europium-153 has an abundance of 51.97%.  What is the atomic mass of europium?  

27. Strontium consists of four isotopes with masses of 84 (abundance 0.50%), 86 (abundance of 9.9%), 87 (abundance of 7.0%), and 88 (abundance of 82.6%).  Calculate the atomic mass of strontium.  
